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EMPTY FRAMES ISSUE

» There is a significant fraction of
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CLUSTERS DISTANCE (CONF A)

Distance between clusters Y pos
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CLUSTERS DISTANCE (CONF B)

Distance between clusters Y pos Cluster distance vs energy
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CLUSTERS DISTANCE (CONF D)

Distance between clusters Y pos Cluster distance vs energy
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CLUSTERS DISTANCE (CONF E)

Lower energetic cluster energy [LSB]

Distance between clusters Y pos
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CLUSTER ENERGY




Cuts: No cuts

CLUSTER ENERGY ANALYSIS
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Cuts: - Full events only

CLUSTER ENERGY ANALYSIS
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CLUSTER ENERGY ANALYSIS
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CLUSTER ENERGY ANALYSIS
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CLUSTER ENERGY ANALYSIS
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CLUSTER SIZE ANALYSIS

antrins

antrins

antrins

Cluster size for plane 0

antrins

Cluster size for plane 4

B

EL

anann

0000

a0

Cluster size per plane 1

i Doy

Cluster size for plane 12

asa00

anann

25000

20000

15000

a0

e

anirine

anirine

anirine

antrins

000

snon0

EL

oo

Cluster size for plane 1

Cluster size for plane 5

Cluster size for plane 9

Cluster size for plane 13

Cuts:

antrins

antrins

antrins

antrins

25000

anan0

15000

a0

5000

20000

15000

a0

=000 |-

anann [

anan0

nann

No cuts

Cluster size for plane 2

Cluster size for plane &

Cluster size for plan

Cluster size for plane 14

anirine

anirine

anirine

antrins

Cluster size for plane 3

Cluster size for plane 7

Cluster size for plane 11

Cluster size for plane 15




CLUSTER SIZE ANALYSIS
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CLUSTER SIZE ANALYSIS
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CLUSTER SIZE ANALYSIS
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CLUSTER SIZE ANALYSIS
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CLUSTER POSITION




CLUSTER POSITION PER PLANE Before cuts
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CLUSTER POSITION PER PLANE After cuts
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CLUSTER ENERGY ANALYSIS

Mean energy
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CONCLUSONS

» Origin of the empty frames should be
investigated further

» Current set of cuts cleans well the sample and
at the same time do not bias the sample

» Exact cut values still can be tuned

» What next ?
-> other energies

-=> Moliere radius
> ??7?7
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CLUSTERS DISTANCE (CONF A)

Distance between clusters Y pos Cluster distance vs energy sum
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CLUSTERS DISTANCE (CONF B)

Distance between clusters Y pos Cluster distance vs energy sum
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CLUSTERS DISTANCE (CONF D)

Distance between clusters Y pos Cluster distance vs energy sum
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CLUSTERS DISTANCE (CONF E)

Distance between clusters Y pos Cluster distance vs energy sum
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